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Additional Limits Topic FRO Practice

1) Step through Continuity Conditions and find the value of ‘a’ such that the f(x)
is continuous

f(x)“{ x=l

ax+ 5, x>1

2)

o (42 4 by .
The function f is defined on all the reals such that f(x) = {” +he=3 for x <1
|3x+b for x>1.

For which of the following values of k and b will the function f be both continuous and
dmnmwemlwmﬁmdnmm?




Particle Motion Practice Problem

3) Two particles move along the x-axis. For D £ ¢ £ 8§, the position of pariicle P at time 1 is ghven by
VR . :
o) wplt) = nfr? - 204 m} while the velocity of particle @ at time ¢ is given by vg(1) = 12 — 81+ 15.
Particle {} is af position x = 3 at time 1 = (),
{z) For 0 £1 £ 8, when is particle P moving to the left?

{b) For 0 <1< §, find all times r during which the tweo particles travel in the same direction.

(c) Find the scceleration of particle (0 at time ¢ = 2. Is the speed of particle @ increasing, decreasing, or
neither at time ¢ = 2 7 Explain your reasoning.




Additional Limits Topic FRQ Practice - j
1) Step through Continuity Conditions and find the value of ‘a’ such that the f(x)
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Particle Motion Practice Problem k@ j

3> Two particles move along the x-axis. For 0 £ ¢ £ 8, the position of particle P at thine ¥ is given by
7

v )Lpi, t} = 1’11( 12— 204 l{}}, while the velocity of particle {2 at fime ¢ is given by VQ(‘!} =17~ 8t +15. —
Particle 7 is at position x = 5 attime r = Q.
{2} For 0 <1 £ §, when is particle P moving to the left?
{t) For 0 <1 £ 8, find all times v during which the two particles travel in the same direction.
{c) Find the acceleration of particle @ at time ¢ = 2. Is the speed of particle @ increasing, decreasing, or
neither at time ¢ = 2 7 Explain your reasoning. )
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